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1. Determine the minimum resistor size in the circuit of Fig. 1 that can be connected to a given battery without exceeding the
resistor’s 1/4 W power rating. Known Quantities: Battery voltages: 1.5 and 3 V.
2. Determine the voltage v in the circuit of Fig. 2. Known Quantities: R;=10 Q; R,.=6 Q:; R:=8 Q: V=3 V.
3. Determine the current 7, in the circuit of Fig. 3. Known Quantities: Ri= 10 Q; R,=2 Q: R:=20 Q; =4 A.
4. The Wheatstone bridge circuit is shown in Fig. 4. Please find the unknown resistance Ry.
Known Quantities: R1=R,=R3=1 kQ, v;=12 V, and V=12 mV
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5. Use node analysis to determine the current i flowing through the voltage source in the circuit of Fig. 5. Assume that R|= 2 Q;
R=2Q;R=4Q;R=3Q; F2A; V=3 V.
6. Find the unknown voltage vy in the circuit of Fig. 6.

Given data: Vs=10V; Is=2 A; Ri=5Q; R,=2 Q; Ry=4 Q.

7. Compute the Thevenin equivalent (open circuit voltage Vrand equivalent impedance Zr) of the circuit of Fig. 7.

Known Quantities: 7,= 5 Q ; 7,=3j20 Q ; vs(t)=110cos(377f) V.
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